R-440-2016 Original: R-755-2015 Contract # 291-2015

LEXINGTON-FAYETTE URBAN COUNTY	Date:	May 24, 2016				
GOVERNMENT CONTRACT CHANGE ORDER	Project:	Rogers Road				
Page 1 of 2	Location:					
o (Contractor): Bluegrass Contracting	Contract No.	755-2015				
	Original Contract Amt.	\$2,838,990.22				
	Cumulative Amount of Previous Change Orders	\$0.00				
	Percent Change - Previous Change Orders		0.00%			
	Total Contract Amount Prior to this Change Order	\$2,838,990.22				
	Change Order No.	1				
You are hereby requested to comply with the following	ng changes from the contract plan	ns and specification;				
Current Ch	hange Order					
Item Description of changes-quantities, unit prices, change in completion date, etc.	Decrease in contract price	Increase in contract price				
1 Repalce DI pipe with 8" PVC to move the MH out	\$0.00	\$13,935.90				
of the basin						
2 Add 7 days to completion date.						
New Date: Nov. 4, 2016						
Total decrease	\$0.00					
Total increase		\$13,935.90				
Net Amount of this Change Order	\$13,935.90					
New Contract Amount Including this Change						
Order Percent Change - This Change Order	\$2,852,926.12		0.49%			
			0.49%			
Percent Change - All Change Orders The time provided for the completion in the contract and a	all provisions of the contract wi	Il apply hereto	0.49%			
Recommended by	(Proj. Engr.) Date_					
Accepted by	(Contractor) Date					
Approved by Sall Africa	(Director) Date 6					
Approved by Dowell Hackeyin Salelli (Commissioner) Date 6-16-16						
Approved by		te 5-Jul-2016				

		Page 2 of 2
JUSTIFICATION FOR CHANGE		PROJECT: Rogers Road
		CONTRACT NO. 755-2015
		CHANGE ORDER: 1
1.	Necessity for change: Structual of time extension	changes to meet existing building requirements and
2.	Is proposed change an alternate	bid?Yes _X_No
3.	Will proposed change alter the pl	hysical size of the project?Yes X_No
	If "Yes", explain.	
4.	Effect of this change on other pri	me contractors: N/A
5.	Has consent of surety been obtain	ined?Yes _X_Not Necessary
6.	Will this change affect expiration	or extent of insurance coverage?Yes _X_No
	If "Yes", will the policies be exten	ded?YesNo
7.	Effect on operation and maintena	ance costs: N/A
8.	Effect on contract completion dat	te: Yes, 7 day extension to completion date.
	Aw	Mayor Date



Rogers Road Storm Sewer Improvements Change Order Information										
Item #	Description	Location	Line Item	Description of Work	Breakdown				Added	Added Cost
	<u> </u>			•	Quantity	Unit	Unit Price	Total	Quantiti	
1	Move MH CR4_425, and take out old BTV manhole no longer used	Basin area	8	Remove Existing Sanitary Sewer Manhole	EA	5	\$919.25	\$4,596.25	2	\$1,838.50
2	Pipe to move MH CR4_425	Basin area	9	Remove Existing 8" VCP Sanitary Sewer	LF	317	\$15.40	\$4,881.80	36	\$554.40
3	Extra tree removal	Basin area	22	Remove Trees	EA	12	\$824.50	\$9,894.00	4	\$3,298.00
4	Move MH CR4_425	Basin area	54	Sanitary Sewer Manhole (4' Dia.)	EA	6	\$4,645.00	\$27,870.00	1	\$4,645.00
5	Pipe to move MH CR4_425	Basin area	C.O.	8" PVC Sanitary Sewer	LF	36	\$100.00	\$3,600.00	36	\$3,600.00
6										\$0.00
7										\$0.00
8										\$0.00
9						.,				\$0.00
10										\$0.00
11										\$0.00
12										\$0.00
13										\$0.00
						Tota	1	\$13,935.90		

MAYOR JIM GRAY



CHARLES H. MARTIN P.E. DIRECTOR WATER QUALITY

TO:

Mayor Jim Gray

Urban County Council

FROM:

Charles H. Martin, P.E., Director

Division of Water Quality

DATE:

June 10, 2016

SUBJECT:

Rogers Road Stormwater Improvement Project - Change Order #1

Request

The Division of Water Quality requests approval of Change Order #1 to the LFUCG contract with Bluegrass Contracting for construction services associated with the Rogers Road Stormwater Project.

Purpose of Request

The purpose of this request is to compensate the contractor for expenses related to the relocation of an existing sanitary manhole that was not shown on the plans and to extend the project completion date by seven (7) calendar days. The new project completion date is November 4, 2016.

Project Cost in FY17 and in Future Budget Years

The change order request is \$13,935.90, which is a 0.5% increase to the contract amount. The new contract value is \$2,852,926.12. There is no impact for future fiscal years.

Are Funds Budgeted

Funds are budgeted in: 4052-303204-3334-92211-2013-ROGERS_2013

Martin/Hoskins-Squier



